ART Y

In the previous 97 we learned that according to 21 the 1327 derive the
dimensions of the entranceway to a 1an from the dimensions of the
doorway of the 5>

Our Shiur began with a discussion of Xan5nR, which the Gemara
further down this Amud describes as follows:

RINOHR R - What is this RanDHR?

Above the doorway of the > there were 5 protruding crossbeams

. in the wall.

The Gemara is asking what unique features it had that would draw
attention to it. In the case of a 7p, in order for it to be valid even
above 20 Amos, it would need to have similar features to be

noticeable. What UNIQUE features did it have
N1 27 says 7P - the protrusions should be shaped like bird’s nests. that would draw attention to it?
1T 27 says RIIRTPO9 - poles of cedar wood were behind the wall,

and they draw attention - not because of their length but because %A 99 Jalg =]

they are 27w, and people notice them.

Poles of Shaped like
cedar wood bird’s nests

N
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Now, after some discussion the Gemara cites two Braisos which
seem to contradict each other.

One Rn»71 states;

LYPY PIZIPR ALK DIVYH INY TN IOR RINOOR 15 W’ DN -

A nMp - a crossbeam over the entranceway of a 1an - is valid even if
it's higher than 20 mnR if it has an RI5HR.

The explanation is as follows:

The nmp serves as a reminder, for people to notice the line between
the n1an - where one may carry - and the 2797 mwA - where one may y 2 9
NOT carry. Therefore, a 7 is valid only up to 20 m»nx - not higher -
because people generally do not notice things that high.

However, if the 1M has some unique feature which draws attention
to it, it would be valid even at heights above 20 m»R, because people
WILL notice it.

IS NI 3B NINOBN 1 2 aNy
TN DR 0 e 9N
599 5% ymns Ny FAN QMR

Another Xn»71 on 2"y "1 q7states the following;

VYR’ 5371 S NNOM INY AR DIVYH M RINW 12D -

A np of aan which is higher than 20 minx - which is greater than
the height of the doorway of the 5’1, must be lowered.

Now, the doorway of the 51 had an Xn5»R, and was limited to the
height of 20 mnr. If we derive the allowable height of the 7 from
the 51, it may NOT exceed 20 mnx EVEN if it has an XanYnR.

§
9oy 27 says that indeed these 2 Braisos disagree, and the first Rn»92 qm =1
does not derive the 1w 0f 20 MR from the 57, and, as explained
. carlier, logically makes the distinction of whether the np has - or FIRSTNN»92 SECOND NN»92
does not have an RIn>»R.
Rav’s opinion is in accord with the second Braisa that we DO derive fI‘OI'Il the 539 fl"OIH the 5=

it from the 5>7.

PMX’ 92 1M 27 says that there is no n15mn between the M3, and

both agree a nmp may be higher than 20 N>R when it has an XI5, poY 92 11m 27
as we do NOT learn it from the 5’7 The Xn12 mentioned 57 only

as RHY2 RO - a simple mnemonic - a point of comparison. FIRST SECOND

And as explained earlier, the entire function of the beam is Dywn» NI»Y92 NIY92

X757, so that one will recognize it is there, before going from the
" into the 0177 MW, and the XIn5HR will serve as a R 7o even
when it's above 20 mnR.
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According to pnx’ 72 1pm3 27, we have the same o'Rin npbin
regarding 1270.

As the Mishnah in X" '2 97 1210 noon states;

WD AT 127 12100 TR DIWYN 12VH5 AN RV 71910 -

As 127 there explains, since the Torah says

SRIW? 32 DR NAWIA MDD DIPMNT VT wnb -

The purpose of sitting in the 7210 is so that we remember how
Hashem sheltered the Jewish people in the desert. Therefore one
must be able to notice the 700 - the main part of the 0.

The Gemara continues with the following Shailah.

DWYH TOYRD AR NI TIWY TN NP NIPD,

DIWYH 7OYPY 790 NP DIWY N JO0 NIPD -

If part of the beam is within 20 m» and part of it is higher than 20
MnR, or if part of the 750 is within 20 m»X and part of it is above 20
DN, is it Wwa?

The Rm3 has two versions for what 727 answered:
First, %100 n3102 9w 1ama -
by anan it is Kosher, and by a nowoit's Posul.

There are two ways to explain this difference:

-1- A1an is used by many people, and somebody will notice if the
lower part of the beam is removed, but a 1310 is used by an
individual, and removal of the lower part of the 700 may go
unnoticed.

-2- The need for a beam over a nan is only 132971 - we may be more
lenient, but the need for 700 is Xn» X7 - we must be more stringent.

The second version of 7127 is, 77Ww2 12102 %100 11 -

by a nanitis 9109, and by a nyo it is Two.

There are two ways to explain this difference.

-1- Since a 1an is used by lots of people, nobody will take responsi-
bility for it.

As the expression goes - R1Ip R RO RS OMW 27 7777 -

A pot guarded by two people is neither hot nor cold. Each person
relies on the other.

71270 is one person’s responsibility and he will look out for it.

-2- Since the need for a beam is only 13277 we have to be extra strict,
so that people take it seriously. 720, which is P1r "pa X5 - RIPIRT -
does not need reinforcement, and we can be lenient.

poxY 92 11am 29
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15v 11 °R» - How do we pasken in these cases?

9100 7 7t WOR K2 92727 - Rabbah bar Ulla says that it is %109 both
by nan and by nowo.

W2 A7 IR X217 - Rava says it is 7wd both by nan and nwo.

R99 17 brings a X171 that the entrance to the Y1 had twenty full

mnR of airspace under the lintel, implying that the top of the NDD 29 SN N3 g‘yw 95 5N
crossbeam can be more than 20 m»X off the ground - a clear proof'to
A M

5109

Parenthetically, the Gemara teaches the minimum height of the
amp.
There must be a clear 10 o’nov below the beam.

DRI NBR WL NI 7RI 12D DORY 720 DR 73 277 70DV YIR MR

WW N1 N1 - Abayei says in the name of 1513 27 that we always

use the stricter 71X measurement.

We use the smaller X measurement of five o'nov regarding the

maximum height of 1a» and 7210, but the larger measurement of six
. onov with regard to the necessary distance between fields to avoid

R,

’
MINIMUM 102°n5Y
height of the 17 p

When 1»n1 27 spoke about using larger mnX in measuring a
vineyard, he was referring to 0357 NI - the empty space needed to
plant other produce in between two sides of a vineyard, so that it's E’S‘?D DN N30 NN 0D NN
considered a separate 77V - PR [a mNa e lalaRaial =]
and 0701 ) - the work area around the vineyard, which must be
left empty, and is considered part of the vineyard.

11973 297 MWD MIN 0N

Although using larger mnx can be a leniency when measuring the
distance between the rows of a vineyard, we can assume that 1on3 27
only meant that most 7R measurements in a vineyard are six D’nov.

9¢ v €Tl

PN PN

DI MY DI DNIP

7.7, CPATA YATATATATIRTATATATRTA
<

—d

S

s s
R =<

/

N

1/
Dedicated By: DafHachaim.org

Eruvin3-4



